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B.Com Semester-2 Sample question paper
F.M- 20 Marketing management and Human resource management ~ Time- 45mins.
GROUP- A 1X12=12

. The elements of marketing mix are known as ‘4Ps’. Which one does not includes?
a) Product, b) Packaging, c) Place d) Price.
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. The major factors of micro environment are-
a) Competitors, b) Customers, c) Intermediaries d) All of these.
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. Consumer behavior is influenced by various factors. Which one does not includes ?
a) Financial, b) Psychological, c) Social d) Cultural.
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. If product performance exceeds customer expectations, customer is
a) Delighted, b) Satisfied, c) Dissatisfied, d) None of these.
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. Which one is not a type of Package?
a) Family Package, b) Reusable Package, c) Multiple Package, d) Test Package.
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. Which one of the below is a pricing policy of a product ?
a) Penetrating pricing policy, b) Skimming pricing policy, c) both a & b, d) None.
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. The characteristics of human resources are in nature.
a) ductility  b) heterogeneous c) homogeneous d) none of these
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. Human resource planning is done on the basis of
a) market condition b) financial condition c) organizational plan d) political environment
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9. Which of these is the most important external factor governing recruitments?
a) sons of soil b) unemployment rate c) demand and supply d) labour market
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10. refers to the process of identifying and attracting job seekers so as to build a pool of
gualified job applications.

a) selection b) training  c) recruitment d) placement
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11. refers to the learning opportunities designed to help employees’ growth.

a) development b) training c) education d) promotion
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12. How many stages does the recruitment process comprise of ?

a)5 b) 6 c)4 d) 2
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GROUP- B 2X4=8

13. In stage of Product Life Cycle the rate of increase in the volume sales rapidly increase and the
profit margin in-
a) Innovative Phase, b) Growth phase, c) Saturation phase, d) maturity phase.
716l EIOUES (1 B [T AR @ 29 7o 21 @R R A ofegfa -
a) SeRA *’@ b) Ifew = c) WS wdm d) syt

14. In one-level channel of consumable goods who is the medium of producer and consumer?
a) Wholesaler, b) Customer, c) Retailer, d) None of these.
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15. Which of the following is not an external source of employment?

a) Advertisement  b) Promotion c) Former employee d) Factory gate
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16. The poor quality of selection means extra cost on and supervision.
a) work quality b) recruitment c) training  d) labour promotion
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